CZ NAVOD NA OBSLUHU ELEKTROCENTRALA

Preklad / Translation
EN USER MANUAL GENERATOR

ZI-STE28001V
C E EAN: 9120039232843 (T3]

POZOR: Zkontrolujte olej (SF 15W40)! ATTENTION: Check Oil (SF 15W40)!




i

1 OBSAH / INDEX

1 OBSAH / INDEX 2
2 BEZPECNOSTNI SYMBOLY / SAFETY SIGNS 5
3 PREDMLUVA 6
4 TECHNIKA 7
4.1 Komponenty, ovIadadni ..c.ccvciieiiieiieriier i sr s r s sra s s s r s r s r s nranrannarnnnn 7

4.2 Technické (daje...cicrareieirrurerereinimrarereresssssrararasssssssrasasassssssssssasassssssssasasasassnsnsnsass 8

5 BEZPECNOST 9
L T U= I Y YT 9

5.2 BezpeCnoStNi POKYNY iiciiioiiiisnie st tsssessssessnsessssesssssssnssssnsnssnsnssnsnssnsnssnnnnss 10

L0 N 0 1 1 1= T 5 -4 1 - T 11

7 PROVOZ 12
7.1 Pied uvedenim dO ProVOZU ...iciierereiammisisrerererersmsssssssasasasassssssssssasasssassssnsnsanannnns 12

7.1.1 Kontrola MotoroVENO OlEJ€ ...uuiuiuiieiiii i ra e e v e e e e e raenes 12

7.1.2 KONErola Paliva oo e 12

7.2 ProVOZni POKYNY cuucicieiiiiiinisiererere s e s ssssasasassssssssssssasassssssssssssnsannnns 12

725G J 0 1 7= 11| o - 13

7286 T8 N o 10 = <Y o 13

285 B0 A - Y1 = Y o T 1 13

8 UDRZBA 14
8.1 Péce 0 stroj a plan UdrZbY .....cciciererieimimsrrerrsssmssrrarerssssssrrasassssssssarasasasassssnsasass 14

- 30y o1 -3 -1 Y PP 14

8.3 Vymeéna motorovEeho OlejJe......cciurermrmimururarareresnsmsrararesasasssrasasasasnssssarasasasasnssasasass 15

8.4 VZAUChOVY filtr icicieiiiiiriiiii s s r s s s s s s a s ra s s asannnnnnnnrnss 15

8.5 Zapalovaci SVICKa (FORTC) .uiiiitimimiarereraramssismamasasasassssssssasasassssssssssssasasasassssnsnsnss 16

2 T - N I - 1 3 1 o T o 16

30y A 4 = e [ 3V - o 1 16

2 2 - T 11 QYT - T o 16

9 ODSTRANOVANI ZAVAD 17
10 PREFACE (EN) 18

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



i

11 TECHNIC
11.1 Components, control panel

11.2 Technical details

12 SAFETY

12.1 Intended Use
12.2 Security instructions

12.3 Remaining risk factors

14 OPERATION

14.1 Pre-operation check
14.1.1 Check engine oil
14.1.2 Check fuel

14.2 Operation instructions

14.3 Operation
14.3.1 Start
14.3.2 Stop

15 MAINTENANCE

15.1 Maintenance plan
15.2 Cleaning
15.3 Engine oil change
15.4 Air filter
15.5 Spark plug (F6RTC)
15.6 Transport
15.7 Storage
15.8 Disposal

16 TROUBLE SHOOTING

17 PLAN ZAPOJENI / WIRING DIAGRAM

18 NAHRADNI DiLY / SPARE PARTS

18.1 Objednavky nahradnich dili / spare parts order ......ccccicviininiirrcrirs e,

18.2 Rozpadovy vykres / explosion drawing

19 CE-PROHLASENI O SHODE / CE-DECLARATION OF CONFORMITY

20 ZARUCNI PODMINKY

21 WARRANTY GUIDELINES

ZIPPER MASCHINEN GmbH
ZI-STE28001V

www.Zipper-Maschinen.at

19
19
20

21
21
22
23

24

24
24
24

24

25
25
25

26
26
26
27
27
28
28
28
28

29

30

31
31
32

35

36

37



i

22 SLEDOVANI VYROBKU

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V

38



2 BEZPECNOSTNI SYMBOLY / SAFETY SIGNS

cz

cz

cz

cz

cz
EN

cz
EN

cz

cz

cz

BEZPECNOSTNI SYMBOLY EN  SAFETY SIGNS
VYZNAM SYMBOLO DEFINITION OF SYMBOLS

CE-SHODA - Tento vyrobek odpovida smérnicim ES.
EC-CONFORM - This product complies with the EC-directives.
PRECTETE SI NAVOD NA OBSLUHU! Piectéte si fadné navod na obsluhu a Udrzbu Vaseho

stroje a dobfe se seznamte s ovladacimi prvky stroje, aby byl tento fadné obsluhovan a
predeslo se ke Skodam na stroji a zranénim osob.

READ THE MANUAL! Read the user and maintenance manual carefully and get familiar with
the controls in order to use the machine correctly and to avoid injuries and machine defects.

VYSTRAHA! Dbejte bezpeénostnich symbold! Nedodrzovani piedpisti a pokynd mlize vést k
tézkym poranénim osob nebo dokonce smrtelnym Urazum.

ATTENTION! Ignoring the safety signs and warnings applied on the machine as well as ignoring
the security and operating instructions can cause serious injuries and even lead to death.

Stroj pired ikonem Gdrzby nebo pred prestavkou v praci vypnéte a odpojte ze sité!

Stop before any break and engine maintenance!
Vseobecny pokyn

General note

Riziko popaleni!

Burn hazard!

Dodrzujte bezpecnou vzdalenost!
Keep safe distance!

POZOR! Vypustte olej pfed transportem stroje. Pfed pouZitim napliite étyftaktni motorovy olej.
Pokud tak neucinite, dojde k trvalému poskozeni motoru a ke ztraté zaruky!

ATTENTION! For transport, oil has been drained. Fill up with 4-stroke quality motor oil before
first operation! Failure to do so will result in permanent engine damage and void guarantee.

Vysoké napéti!

High voltage!

Chrainte pred vihkem!

Protect from moisture!

Vysoce hoflavé! Otevieny ohen je zakazany

Highly flammable! Naked flames prohibited

cz Nebezpedi otravy! Nepouzivejte uvnitf a v blizkosti otevienych oken a vétrani.

EN Danger of Intoxication! Only use outdoors and far from open windows and vents!

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at

ZI-STE28001V



3 PREDMLUVA
Vazeny zakazniku!

Tento navod na obsluhu obsahuje ddleZité informace a upozornéni k manipulaci a provozu
elektrocentraly ZI-STE28001V.

Obchodni oznaceni vyrobku uvedené na obalce bude pro uUcel tohoto navodu zkraceno na ,stroj".

Tento navod na obsluhu je nedilnou soucasti stroje a musi byt u néj uchovan pro pfipadné pozdéjsi
pouziti. Pokud stroj predavate treti osobé, vzdy navod pfilozte!

Dodrzujte bezpecnostni pokyny!
Pfed prvnim pouzitim si pozorné prectéte tento navod na obsluhu. To Vam usnadni praci
se strojem a pomUze predchazet chybédm a pfipadnym ékogla’mc; Dodrzujte bezpecnostni
pokyny a dbejte vystrah. Opomijeni bezpecnostnich pokynu muze vést k vaznym Skodam
na zdravi apod.

Z dlvodu neustalého vyvoje nasich produktd seomohou vyobrazeni nebo obsah tohoto ndvodu mirné
liSit od skutecCnosti. V pFipadé zjisténi nedostatku této dokumentace nas o téchto laskavé informuijte.

Technické zmény vyhrazeny!

Autorské pravo
© 2017

Tato dokumentace je chrdnéna autorskym pravem. Z toho vyplyvajici Gstavni prava zlstavaji
nedotcena! Pretisk dokumentace, preklad, pouziti fotografii a vyobrazeni budou trestné stihana.

Mistem pfislusnosti je Krajsky soud v Linci nebo soud pfislusny pro 4707 Schllsslberg.

Kontakt na sluzby zakaznikim

ZIPPER MASCHINEN

Gewerbepark 8, A-4707 Schlisslberg
AUSTRIA

Tel.: +43 7248 61116-700
Fax: +43 7248 61116-720

Mail: info@zipper-maschinen.at

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



4 TECHNIKA

4.1 Komponenty, ovladadni

N
ENG. SW. PILOT-LAMP V.F. T ZI-STE3800IV  pca20v B%%}(J'ETR
. N
Vs R\
USB / m\
OFF
\

ZI-STE28001IV
1 Plnici otvor 8 Jisti¢ vedeni
2 Ukazatel paliva 9 Hlavni vypinac
3 Ovladani 10 Indikator stavu
4 Plnici hrdlo motorového oleje 11 Kontrolka napéti
5 Startovaci kabel 12 DC - konektor 12V
6 Vzduchovy filtr 13 AC - konektor 230V
7 USB-konektor 14 Zemnici svorka

Indikator stavu:

Zluta: Alarm pretizeni

cervena: Kontrolka motorového oleje

zelena: Normalni provoz

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



4.2 Technické Gdaje

Typ motoru 1-valec 4-taktni
Objem 212 cm3
Vykon motoru 4,5 kw
Otacky motoru 3000 min!
Startér Kabel
Zapalovani CDI

Doba provozu pfi 100% 13 h
Prdmérna spotieba 355 ml / kWh
Palivo bezolovnaty benzin
Objem nadrze 9|
Motorovy olej SF 15W40
Objem nadrze motorového oleje 600 ml
Trvaly vykon generatoru 2,8 kW
Max. vykon 3,2 kW

AC-zasuvka

1x230V/50Hz/12,6 A

DC-konektor

12V / max. 8,3 A

USB-konektor

5V 1A/2,1A

Hladina akustického tlaku Lpa

68 dB(A) pfi 7 m

Rozmér stroje

470 x 420 x 480 mm

Hmotnost

34 kg

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at

ZI-STE28001V




5 BEZPECNOST

5.1 Ucel pouziti

Stroj se smi pouZivat pouze v bezvadném technickém stavu, pfi dodrzeni vdech pokynl k provozu
a bezpednostnich pokynd, pti védomi nebezpeénosti stroje! Zavady, které mohou ovlivnit bezpe&nost stroje,
ihned odstrante! Vyrobcem predepsané provozni podminky a podminky udrzby a péle o stroj jakoz
i bezpec¢nostni pokyny uvedené v tomto navodu na obsluhu je nutné dodrzovat.

Je obecné zakazano ménit nebo odstranovat bezpecnostni prvky a zarizeni stroje!

Stroj je urcen vyhradné pro nasledujici:
Pro pohon 230V elektrického naradi a napajeni svételnych zdrojd. U domdcich spottebi¢l zkontrolujte
vhodnost podle pokynt vyrobce.

Za skody a zranéni zplisobena jinym nez ke svému ucelu urcenému pouziti stroje nenese
spolecnost jakoukoliv odpovédnost nebo zaruku.

VYSTRAHA
e Provozujte pouze elektricka zafizeni, jejichz max. vykon je v souladu se

specifikaci vykonu elektrocentraly.

¢ Elektrocentrala ma pojistku nedostatku oleje. Pokud je hladina oleje prilis
nizka, neni mozné pristroj spustit.

e Nikdy nepfFipojujte generator k siti (zasuvka)!

e Nikdy nespojujte spolecné dva generatory!

¢« Na motoru a nastaveni stroje nelze provadét zadné zmény.

Pracovni podminky:
Stroj je urcen pro praci za nasledujicich podminek:

VlIhkost max. 70%
Teplota od +5°C do +40°C
Nadmofrska vyska 1500m nad hladinou more

Stroj neni urcen pro pouziti v prostfedi s nebezpecim vybuchu.

Nedovolené pouziti:

. Provoz stroje za podminek nad ramec uvedeny v tomto navodu na obsluhu neni povolen.

o Provoz stroje bez ochrannych prvktd neni povolen.

. DemontaZ nebo vypnuti ochrannych prvkd je zakazano.

. Neni povolené pouZiti ndstrojl, které nejsou uréeny pro pouziti s timto strojem.

. Jakékoliv zmény na konstrukci stroje jsou vyslovné zakazany.

. Provoz stroje zplsobem a k G&elim, které neodpovidaji 100% pokyntm v tomto navodu, je
vyslovné zakazan.

. Nikdy nenechavejte stroj bez dozoru. Zejména, pokud se v blizkosti stroje nachazeji déti!

. Nikdy béZici elektrocentralu nezakryvejte.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



5.2 Bezpecnostni pokyny

Vystrazné stitky a/nebo nalepky na stroji, které jsou jiz necitelné nebo chybé&ji, museji byt
okamzité obnoveny!

Zakony a narizeni platné v misté pouzivani stroje mohou stanovovat minimalni vék obsluhy
a omezit tak pouzivani tohoto stroje!

Pro zabranéni vadné funkce stroje, jeho poSkozeni nebo Skodam na zdravi dbejte
VZDY nasledujicich pokynd:

= Stroj provozujte pouze za dostatecného svétla. PFi zhorsenych svételnych podminkach stroj
nepouzivejte.

= PFi iunavé, ztraté koncentrace, popf. pod vlivem lék{, alkoholu nebo drog je prace se strojem
zakazana!

= Déti a osoby, které nejsou seznameny s timto navodem, nesmi stroj pouzivat!

= Stroj smi byt obsluhovan pouze vyskolenou obsluhou (se znalostmi a porozuménim tomuto navodu),
ktera nema zadna pohybova omezeni.

= Déti a nepovolané osoby se nesmi zdrzovat v blizkosti béZiciho stroje a nesmi nikdy stroj
obsluhovat!

= Pokud stroj predavate tfetim osobam, musi byt tento navod priloZzen ke stroji.

= Riziko popaleni! BEhem provozu vznikaji horké vyfukové plyny a casti stroje, jako je vyfuk a motor,
jsou horké.

* Horky stroj nikdy nepokladejte do suché travy nebo jinych snadno hoflavych materiald.

*= Po provozu musi stroj vychladnout. V opacném pripadé hrozi akutni nebezpeci popaleni.

= POZOR: Benzin je vysoce horlavy!

= Pred dopliovanim paliva vypnéte motor.

* P¥Fi tankovani je zakazano koufit a manipulovat s otevienym ohném.

= Nedoplnujte palivo, pokud jsou motor a karburator stale velmi horké.

= Dopliujte palivo pouze venku nebo v dobie vétranych prostorach.

= Zamezte styku s kdizi a odévem (nebezpeci pozaru!).

= Uzaviete vicko nadrze po doplnéni a zkontrolujte jeho tésnost.

= Uvedeni do provozu nejméné 3 m od mista doplfiovani paliva.

= Rozlité palivo okamzité otiete.

= Benzin by mél byt skladovan pouze ve specialné urcenych nadobach.

= Pokud benzin pretéka, nesmi byt proveden zadny pokus o spusténi. Misto toho by mél byt stroj
odstranén z prostoru kontaminovaného benzinem. Je tfeba se vyvarovat jakéhokoliv pokusu o
spusténi az do vyprchani vzniklych par benzinu.

= Poskozenou palivovou nadrz nebo jiné uzavéry nadrze je tfeba vymeénit.
= Po dokonceni operace uzaviete uzaviraci kohout (pokud je k dispozici).

= Nepouzivejte elektrocentralu uvniti nebo v blizkosti otevienych oken a vétrani nebo ho
neprovozujte ve vysoce hoFlavém prostredi.

= Vyfukové plyny obsahuji jedovaty oxid uhelnaty. Zatéz témito plyny miiZe zptisobit bezvédomi a
vést k smrti.

= V okruhu 5 m se nesmi zdrzovat zadna jina osoba, zejména déti nebo domaci zvirata!

= Elektrocentralu umistéte nejméné 1 m od stén nebo pFipojenych zarizeni.

* Pro elektrocentralu zvolte bezpecné, rovné misto.
Je zakazano otadeni a naklapéni nebo premistovani béhem provozu.

= POKYNY PRO TRANSPORT:
= Motor vypnéte. Elektrocentralu nikdy nepiepravujte zapnutou!
= Stroj pro prepravu zajistéte.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



5.3 Dalsi rizika

I pti dodrzovani bezpe&nostnich piedpisd a pokynl pro spravné pouZiti stroje hrozi dalsi rizika:

¢ Riziko popaleni:

Dotykani se tlumice vyfuku, vyfuku a gjaléich ohratych Casti stroje po dlouhodobém nepfetrzitém
provozu nebo pfi zahfatém motoru muze mit za nasledek tézké popaleniny.

e Nebezpecdi pozaru a vybuchu

Benzin je za urcitych podminek vysoce hoflavy a vybusny.

NIKDY nedopliujte palivo nebo motorovy olej, kdyz je stroj v chodu nebo horky.

Pri doplnovani paliva a na mistech, kde je palivo skladovano, nekurte a otevieny ohen nebo jiskry
udrzujte v dostatec¢né bezpecné vzdalenosti.

Nepreplnujte palivovou nadrz a vyhnéte se rozliti benzinu pfi tankovani. Pokud se benzin rozlije, pred
zapnutim motoru se ujistéte, Ze je tato oblast zcela sucha / Cista.

Po doplnéni paliva se ujistéte, zZe je vicko palivové nadrze opét uzavieno.
e Chemické nebezpeci

Nikdy neprovozujte nebo nedopliiujte palivem benzinovy ani vznétovy motor v uzavieném prostoru bez
dostatecného vétrani.

Splodiny oxidu uhelnatého z vnitinich hnacich jednotek spalovaciho motoru mohou zpdsobit po
vdechnuti poskozeni zdravi a smrt. Proto stroj pouzivejte pouze v dobre vétranych prostorach nebo
venku.

Kapalnd paliva mohou zpUsobit vazné poskozeni kiize a Zivotniho prosttedi.
e Nebezpecdi od elektrického proudu

PFimy elektricky kontakt mUze zplsobit Uraz elektrickym proudem. Nikdy se nedotykejte mokrymi
rukami.

Ujistéte se, ze mate dostatecné uzemnéni.

e Poskozeni sluchu

Dlouhodoby pobyt v bezprostiedni blizkosti bé&Ziciho zatizeni mize vést k poskozeni sluchu.
Pouzivejte ochranu sluchu!

Tato rizika je moZzné minimalizovat pfi dodrzovani véech bezpe&nostnich pokynt, pokyntd k Gdrzbé
a pécdi o stroj a pfi vhodném pouzivani stroje zaskolenou obsluhou.

Pres veskeré ochranné pom{cky a bezpecnostni vybavu stroje jsou Vade koncentrace na praci
a technické predpoklady pro obsluhu stroje tim nejdulezit&jsim bezpe&nostnim faktorem!

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



7 PROVOZ

Po obdrzeni zasilky zkontrolujte, zda-li jsou vSechny jeji ¢asti v poradku. Poskozeni nebo chybéjici
¢asti okamzité oznamte svému prodejci nebo prepravci. Viditelnd poskozeni zplsobena prepravou
museji byt neprodlené zaznamenana do dodaciho listu. Na pozdéjsi reklamace nebude bran zretel.
Zbozi bude povazovano za fadné dodané.

7.1 Pred uvedenim do provozu

7.1.1 Kontrola motorového oleje

7.

POZOR

Elektrocentrala se dodava bez provoznich kapalin!

Pied prvnim uvedenim do provozu musi byt doplnén motorovy olej

15W40!

viz. kapitola Udrzba => Vymé&na motorového oleje

7.1.2 Kontrola paliva

e Umistéte stroj na rovnou plochu.

e  Otevrete uzavér palivové nadrze.

e  Zkontrolujte palivovy filtr.
Nikdy nedopliiujte palivo bez palivového filtru!
Doplnte vzdy jen bezolovnaty benzin.
NIKDY NETANKUJTE ZA PROVOZU STROJE!

7.2 Provozni pokyny

POKYN

ZIPPER MASCHINEN GmbH
ZI-STE28001V

Elektrocentralu vzdy umistéte na pevny a rovny povrch! Otaceni a naklapéni
nebo pfemistovani béhem provozu je zakazano.

Pfed uvedenim do provozu vzdy zkontrolujte motorovy olej a hladinu paliva.

Nezapinejte spotiebi¢, dokud nebude elektrocentrala pracovat na plné otacky.
Pred vypnutim elektrocentraly nejprve odpojte spotrebic.

Pfipojena zafizeni musi byt v bezvadném stavu.
Délka kabell ke spotiebici by méla byt co nejkratsi.

www.Zipper-Maschinen.at



7.3 Obsluha
7.3.1 Spusténi

e Otocte palivovy kohout do polohy "ON".
e Zapnéte hlavni vypinac (poloha ,,ON").
e Pfi studeném startu nastavte syti¢ do polohy "CLOSE".
PFi teplém startu (motor jiz bé&Zi a je stdle teply) nastavte syti¢ do polohy ,OTEVRENO".
Pokud se elektrocentrala nespusti po 5 pokusech, nastavte syti¢ na "CLOSE" a zkuste to znovu.
e Kdyz motor bézi hladce, nastavte syti¢ do polohy " OPEN ".
e Nastartujte motor startovacim kabelem.
Pevné zatdhnéte za rukojet. Pokud se motor nespusti, zkuste to znovu.
Normalni start: 3-4 pokusy

PFi startovani se startovacim kabelem mize nahly zpétny raz zplisobeny nabéhnutym
motorem zplisobit zranéni ruky.

7.3.2 Zastaveni

ﬁ POZOR
V pripadé nouze rychle vypnéte elektrocentralu hlavnim vypinacem

Za normalnich okolnosti vypnéte elektrocentralu nésledujicim zplsobem:

Vypnéte vSechny spotrebiCe a odpojte od elektrocentraly.

Nechte elektrocentralu b&Zet po uritou dobu bez pfipojenych spotrebicli, aby vychladla.
Vypnéte hlavni vypina¢ (poloha ,0FF").

PFi delSim prostoji nechte elektrocentralu néjakou dobu bézet bez pripojeného spotfebice, aby
vychladla. Poté nastavte palivovy kohout do polohy "OFF". Motor bézi, dokud neni spotfebovano
zbyvajici palivo v karburatoru. Poté prepnéte hlavni vypinac¢ do polohy "OFF".

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



8 UDRZBA

POZOR
Pfed provadénim Gdrzby stroj vypnéte a nechte vychladnout!

Stroj je nenadroény na Udrzbu a pouze nékolik malo dild musi byt obsluhou udrzovéno.

Poruchy nebo zavady, které mohou ovlivnit bezpec¢nost, nechte okamzité odstranit.

POKYN

Pouze pravidelné udrzovany stroj mGze byt uspokojivé provozovan.
Nedostatecna udrzba a péce o stroj mohou mit za nasledek nehody a zranéni.

Naroc¢né opravy svérte autorizovanému servisu.
Nevhodny zasah miize poskodit stroj a ohrozit Vasi bezpecnost.

8.1 Péce o stroj a plan adrzby

Pied Po: Po: Po: Po: Po:
, & 1 mésici 3 6 12 24
el delzds) k::gi‘t';:' 5 hod. mésicich | mésicich | mésicich | mésicich
P 25 hod. | 50 hod. | 100 hod. | 250 hod.
Motorovy Kontrola X
olej .
(15W40) Vymena X X
Vzduchovy Kontrola X
s Vyména X
Zapalovaci Kontrola X
svicka .
Vyména X
Benzinovy Kontrola X X
filtr a nadrz P
Vymeéna

Provedte odpovidajici idrzbu ve stanoveném mésici nebo po uplynuti stanovenych provoznich hodin
(hod.) - v zavislosti na tom, co nastalo dfive.

8.2 Cisténi
e Doporucujeme Cistit stroj ihned po kazdém pouziti.
e Ochranné prvky, vétraci otvory a skiiné& motord udrzujte co nejvice zbavené od prachu a neéistot.

e Vycistéte skfin stroje vlhkym hadfikem a v pfipadé potreby pouZijte bézné dostupny Ccistici
prostiedek, nebo ho vyfoukejte tlakovym vzduchem nastavenym na nizky tlak.

UPOZORNENI

Pouziti Cisticich prostiredki jako rozpoustédel, agresivnich chemikalii nebo abrasivnich
prostifedk ma za nasledek poskozeni stroje!

Plati: Pri Cisténi pouzivejte vodu a v pripadé nutnosti jemné Cistice!

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



i

8.3 Vymeéna motorového oleje

POZOR

Q Pfed vyménou motorového oleje vypnéte motor!
Zatimco je motor stale teply, rychle a Uplné vypustte stary motorovy olej.
Pro Ucely ochrany Zivotniho prostredi likvidujte pouzity olej v tésnych nadobach
dovezenych do autorizovanych sbérnych mist. Nevyhazujte jej nikdy do komunalniho
odpadu.

e Otevrete vypoustéci Sroub oleje (1)
e Olej vypustte do vhodné nadoby

e Znovu zavrete vypoustéci Sroub

e Odsroubujte mérku oleje

e Doplnite novy motorovy olej (15W40, 600ml) a
zkontrolujte hladinu oleje mérkou oleje.

e Pokud je hladina sprédvna (PLNA), znovu nasroubujte
mérku oleje a zavrete viko pomoci $roubd.

e Otrete zbytky oleje hadfikem.

¢ Umistéte stroj na rovnou plochu a nastartujte motor.

Pokud je hladina oleje dostatecna, kontrolka
motorového oleje nebude aktivovana.

8.4 Vzduchovy filtr

e Uvolnéte svorku na bo¢nim krytu a sejméte kryt.
e Povolte a sejméte kryt vzduchového filtru.
e Vyjméte vzduchovy filtr.

e ycistéte vzduchovy filtr mydlovou vodou, poté !
oplachnéte Cistou vodou a pred opétovnou
instalaci nechte dobfe vyschnout.

e Sestaveni se provede v opa¢ném poradi.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



8.5 Zapalovaci svicka (F6RTC)

e Sejméte krytku.

e Odpojte konektor zapalovaci svicky
oto¢nym pohybem.

e Odsroubujte zapalovaci svicku klicem
zapalovaci svicky.

e Zkontrolujte zapalovaci svicku, zda neni
zneciSténa a v pripadé potreby ji

vycistéte médénym draténym Ziindkerze —
kartackem. ’ ¥ orosmm

e Zkontrolujte vzdalenost elektrod (0,7 - Pt
0,8 mm).

e Sestaveni se provede v opacném poradi.

8.6 Transport

e Zajistéte stroj proti pohybu.
e Zajistéte, aby z nadrze nemohl unikat benzin.
e Pokud je stroj ve vozidle, nesmi byt nastartovan motor agregatu.

o Pri pfepravé chrafite stroj pfed nadmé&rnym teplem. Pokud stroj zUstane del&i dobu v uzavieném
vozidle, mize dojit od paliva k jeho vzniceni v disledku prehfati.

8.7 Skladovani

Pokud je stroj skladovan déle nez 30 dni:

e Pockeijte, az stroj dostatecné vychladne.

e Palivo z nadrze a karburatoru vypustte do vhodné nadoby (nebo nechte stroj bézet bez zatéze,
dokud nebude palivo Uplné vycerpano) a vypusténé palivo uskladnéte ve vhodné nadobé.

e Skladujte na suchém a Cistém misté mimo dosah déti.

8.8 Likvidace

Vas stroj nevyhazujte do komunalniho odpadu. Kontaktujte mistni organy pro ziskani

informaci o spravné likvidaci a dostupnych moznostech likvidace odpadu. Pokud si u

vaseho obchodnika zakoupite novy nebo podobny stroj, je tento povinen stary stroj od

vas bezplatné prevzit k odborné likvidaci. -

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



9 ODSTRANOVANI ZAVAD

Zavada

Motor se netoci

’ Vo

Mozna pFicina

o Nespravné poradi pfi spousténi

¢ Vénujte pozornost spravné
sekvenci pfi spousténi stroje

¢ Znecistény vzduchovy filtr

e Vycistéte / vyménte
vzduchovy filtr

¢ Nedostatek paliva

e Doplrite palivo

¢ Chyba v palivovém vedeni

e Zkontrolujte palivové vedeni,
zda neni zauzlené nebo
jinak poskozené

e Motor je utopeny

e Odsroubujte, vycistéte a
osuste zapalovaci svicku;
pak nékolikrat zatahnéte za
startovaci kabel; Znovu
nasroubujte zapalovaci
svicku

e Konektor zapalovaci svicky neni
zapojen

o Nasadte konektor zapalovaci
svicky

o 74dna jiskra

o Vycistéte / vymeénte
zapalovaci svicku

e Zkontrolujte kabel
zapalovani

e Zavreny palivovy kohout

e Otevfte palivovy kohout

¢ Prilis malo motorového oleje

Zkontrolujte motorovy olej

Motor se spusti a okamzité
zhasne

e Nespravné nastaveni karburatoru
(volnobézné otacky)

o Kontaktujte zédkaznickou
podporu

Stroj pracuje prerusované
(kucka se)

e Karburator je chybné nastaven

o Kontaktujte zédkaznickou
podporu

Zapalovaci svicka je zakopténa

o Vycistéte / vymeénte
zapalovaci svicku.

e Zapalovaci svicku
zkontrolujte

Kontrolka motorového oleje sviti

Zkontrolujte stav oleje

e Dopliite motorovy olej

Kontrolka motorového oleje sviti

PFiliS malo/ zadny olej

e Dopliite motorovy olej

Sviti kontrolka pfretizeni

Je aktivovéna tepelnd ochrana

e Stroj nechte vychladnout

Sviti kontrolka pfretizeni

Ochrana proti pretizeni aktivovéna

e PFiliS velky spotrebic

Sviti kontrolka pretizeni

Ochrana proti zkratu aktivovana

e Zkontrolujte spotrebic

POKYN

Pokud se nejste jisti, Ze jste schopni provést opravu Fadné sami, nebo
nedisponujete prislusnou kvalifikaci a schopnostmi, obratte se ohledné
odstranéni zavady na autorizovany servis.

ZIPPER MASCHINEN GmbH
ZI-STE28001V

www.Zipper-Maschinen.at



10 PREFACE (EN)
Dear Customer!

This manual contains important information and advice for the correct and safe use and
maintenance of the generator ZI-STE28001V.

Following the usual commercial name of the device (see cover) is substituted in this manual with the
name "machine".

The manual is part of the machine and may not be stored separately. Read it profoundly before first
use of the machine and keep it for later reference. When the machine is handed to other persons
always put the manual to the machine.

Please follow the security instructions!

Please read the entire manual, to prevent misunderstandings, machine damage or even injuries!
Due to continuous development of our products illustrations, pictures might differ

E]II slightly.
If you however find errors in this manual, please inform us.

Technical changes excepted!

Copyright law
© 2017

This manual is protected by copyright law - all rights reserved. Especially the reprinting as well as
the translation and depiction of pictures will be prosecuted by law. Court of jurisdiction is the
Landesgericht Linz or the competent court for 4707 Schllisslberg, AUSTRIA.

Customer Support

ZIPPER MASCHINEN GmbH

Gewerbepark 8, 4707 Schlisslberg
AUSTRIA

Tel.: +43 7248 61116-700

Fax: +43 7248 61116-720

Mail: info@zipper-maschinen.at

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



7

11 TECHNIC

11.1 Components, control panel

N
ENG. SW. PILOT-LAMP V.F. T ZI-STE3800IV  pca20v B%%}(J'ETR
. N
Vs R\
USB / m\
OFF
\

ZI-STE28001IV
1 Fuel cap 8 Circuit breaker
2 Fuel gauge 9 ON-OFF- engine switch
3 Control panel 10 Indicator lights
4 Engine oil filler 11 Voltmeter
5 Recoil starter handle 12 DC-output 12V
6 Air filter 13 AC-output 230V
7 USB-output 14 Ground terminal

Indicator lights:

yellow: Overload

red: low oil alarm

green: running

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



11.2 Technical details

Engine type 1-cylinder 4-stroke
Displacement 212 cm3
Engine power 4,5 kW
Engine speed 3000 min!
Starter recoil
Ignition CDI
Operation time at 100% 13 h

Set fuel consumption 355ml / kWh
Fuel unleaded gasoline
Fuel tank capacity 91

Engine oil SF 15W40

Oil tank capacity 600 ml
Rated output power 2,8 kW

Max. output 3,2 kW
AC-output 1x230V/50Hz/ 12,6 A
DC-output 12V / max. 8,3 A
USB-output 5V 1A/2,1A

Sound pressure level Lpa

68 dB(A) at 7 m

Machine dimension

470 x 420 x 480 mm

Weight

34 kg

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at

ZI-STE28001V




12 SAFETY

12.1 Intended Use

The machine must only be used for its intended purpose! Any other use is deemed to be a case of misuse.

To use the machine properly you must also observe and follow all safety regulations, the assembly
instructions, operating and maintenance instructions lay down in this manual.

All people who use and service the machine have to be acquainted with this manual and must be informed
about the machine's potential hazards.

It is also imperative to observe the accident prevention regulations in force in your area.
The same applies for the general rules of occupational health and safety.
The machine is used for:

For applications operated with a 230 V alternating current source. When using the device with household
appliances, please check their suitability in accordance with the relevant manufacturer instructions.

Any manipulation of the machine or its parts is a misuse, in this case and its
sales partners cannot be made liable for ANY direct or indirect damage.

WARNING
e The generator is to be operated only with equipment whose voltage

specifications conform with the generator's output voltage.

e The generator has an oil pressure protection. If oil level is low, it is not
possible to restart the engine.

e Never connect the generator to the power supply (socket-outlet)!
¢ Never connect the generator with other energy sources (generators)!
¢ Never change the motor and machine settings.

Ambient conditions
The machine may be operated:

humidity max. 70%
temperature +5°C to +40°C (+41°F to +104°F)
max. altitude above sea level 1500m

The machine shall not be operated in areas exposed to increased fire or explosion hazard.
Prohibited use:

e The operation of the machine outside the stated technical limits described in this manual is
forbidden.

e Operation of the machine function without safety devices is forbidden.

e The use of the machine not according with the required dimensions is forbidden.

The use of the machine not being suitable for the use of the machine and not being certified is

forbidden

Any manipulation of the machine and parts is forbidden.

The use of the machine for any purposes other than described in this user-manual is forbidden.

The unattended operation on the machine during the working process is forbidden!

Never cover the running generator.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



12.2 Security instructions

Missing or non-readable security stickers have to be replaced immediately!
To avoid malfunction, machine defects and injuries, read the following security instructions!

The locally applicable laws and regulations may specify the minimum age of the operator and limit the
use of this machine!

= Use the machine only in good enough light to allow a safe operation can be guaranteed.

= In tiredness, decreased concentration or under the influence of alcohol or drugs, the work on the
machine is prohibited!

= Unauthorized persons, especially children and not trained personnel must be kept away from the
running machine!

= The machine must be operated only by trained persons (knowledge and understanding of this
manual), which have no limitations of motor skills compared with conventional workers.

= If you pass the machine to third, these instructions must be attached to the machine.

= Danger of burns! During the operation flow of hot exhaust gases and engine parts such as the
muffler and engine become hot.

= Never place a hot machine in dry grass or other easily flammable materials.

= After the operation, the machine must cool down. Otherwise there is an imminent risk of burns.
= WARNING: Gasoline is highly flammable!

= Stop the engine before refuelling

= Smoking and open flames are prohibited during refuelling. Do not refuel when the engine and
carburettor are still very hot.

= Refuel only outdoors or in a well ventilated area.

= Avoid contact with skin and clothes (fire hazard).

= Check after refuelling tank cap and check for leaks.

= Start the engine at least 3 meters from the tank location.
= Spilled fuel is wipe immediately.

= Keep the fuel in suitable containers only.

= Make sure the fuel does not overflow. If the fuel overflows, the engine must not be started. Remove
any dirt from the appliance and prevent any attempt at ignition until fuel fumes have evaporated.

= Damaged fuel tank or other tank cap must be replaced immediately

= After the operation the fuel cock must be closed (if available)

= Danger of Intoxication! Only use outdoors and far from open windows and vents!

= Exhaust contains poisonous carbon monoxide. The exposure can cause unconsciousness and death.
= No other person, children or pets shall remain within 5m!

= Place the generator at least 1m away from buildings and the equipment connected to it.

= Place the generator in a secure, level position. Do not turn, tip or change the generator's position
while it is working.

TRANSPORTHINWEISE:
= Always switch off the engine when transporting and refueling the generator!
= Secure the generator against shifting and toppling during transport.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



12.3 Remaining risk factors

Even if the machine is used as required it is still impossible to eliminate certain residual risk factors
totally. The following hazards may arise in connection with the machine s construction and design:

. Risk of burns:

Touching the mufflers, exhaust and other machine components which can be hot after prolonged
continuous operation or when the engine is hot cause severe burns.

¢ Risk of fire and explosion:

Gasoline is highly flammable and explosive under certain conditions.

NEVER refuel fuel or engine oil while the machine is in operation or is hot.

When refueling and at places where fuel is stored not smoke or allow open flames or sparks.

Do not overfill the fuel tank and avoid the spillage of gasoline during refueling. If fuel is spilled make
sure the area is completely dry and cleaned before starting the engine.

Make sure that the filler cap is tightly closed again after refueling safely.

e Chemical risks

Never use or refuel a gasoline or diesel engine in a closed area without adequate ventilation.
Carbon monoxide emissions from the internal drive units of the engine can cause in confined spaces

through inhalation health effects and death. Therefore use the machine only in well-ventilated rooms or

outdoors in operation.

Liquid fuels can cause serious damage on the skin and the environment.

¢ Risk of electric shock

Direct electrical contact may cause electric shock.

Never touch the unit with wet hands. Provide adequate grounding.

e Hearing damage

A longer stay in the immediate vicinity of the running unit may cause hearing damage.
Wear ear protectors!

These risk factors can be minimized through obeying all security and operation instructions, proper
machine maintenance, proficient and appropriate operation by persons with technical knowledge and
experience.

In spite of all safety is and remains her healthy common sense and their corresponding technical
qualification / training for use of the machines most important safety factor!

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



14 OPERATION

Please check the product contents immediately after receipt for any eventual transport damage or
missing parts. Claims from transport damage or missing parts must be placed immediately after initial
machine receipt and unpacking before putting the machine into operation. Please understand that later
claims cannot be accepted anymore.

14.1 Pre-operation check

14.1.1 Check engine oil

7.

ATTENTION
The generator is delivered without engine oil and fuel! A
Engine oil 15W40 must be filled before first use!

See capture maintenance => engine oil change

14.1.2 Check fuel

e Place the machine on a firm and flat surface.
e Open the fuel cap.

e Check the fuel filter.

Never refuel without fuel filter!

Fuel must be unleaded gasoline

NEVER REFUEL IF THE ENGINE IS RUNNING! A

14.2 Operation instructions

NOTICE

ZIPPER MASCHINEN GmbH

ZI-STE28001V

Always place the machine on a firm and flat surface! No turning, tilting or moving
during the engine is running

Always check oil and fuel level before starting

Do not connect the appliance before the unit is running at full speed. Disconnect
the appliance before turning the unit off.

Connected devices must be in perfect condition.
Keep the cable length to the consumer as short as possible.

www.Zipper-Maschinen.at



14.3 Operation
14.3.1 Start

e  Turn the fuel valve to position ,,ON"

e  Switch the Engine-switch to position ,ON"

e At cold start set the choke to position ,CLOSE".

At worm start (the engine was running and is still warm) set choke to Position ,,OPEN".

If the generator fails to start after 5 attempts, pull choke to position "CLOSE" and try again.

e If the engine runs smoothly set choke to position ,,OPEN"

e Start the engine with the recoil starter:
Grip the handle and pill the recoil starter.
If the engine does not start, try again.
Normally start: 3-4 attempts

When starting with the recoil starter, the motor may recoil suddenly as it starts up,
resulting in hand injuries!

14.3.2 Stop

ﬁ ATTENTION
In case of emergency stop the generator directly with the ON-OFF switch

In normal circumstances switch off the generator as follows:

Shut down the connected devices and disconnect them from the generator.
To cool down let the engine running for a while without any loads.

Switch off the generator by putting the engine switch to position ,,OFF"

At longer breaks:

To cool down let the engine running for a while without any loads.
Thereafter close the fuel cock by turning to position ,, OFF".

The engine runs until the remaining fuel is consumed in the carburetor.
Switch off the generator by putting the engine switch to position ,,OFF"

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



15 MAINTENANCE

AD

ATTENTION

No cleaning, upkeep, checks or maintenance when machine is running!

Shut off the machine and let it cool down before start servicing!

The machine does not require intense maintenance. However, to ensure a long lifespan, we strongly

recommend following the upkeep and maintenance plan.

Repairs must be carried out by specialists! Use original ZIPPER parts only!

15.1 Maintenance plan

NOTICE

Only a properly maintained equipment may be a satisfactory tool. Care and maintenance deficiencies
can cause unpredictable accidents and injuries.

Repairs should be performed only by authorized service centers.
Improper operation may damage the equipment or endanger your safety.

Before After: After: After: After: After:
Servicing period any 1 month | 3 month | 6 month | 12 month | 25 month
using 5 HOO 25 HOO | 50 HOO | 100 HOO | 250 HOO
Engine oil Inspection X
(15w40) Change " -
Air filter Inspection X
Change X
Spark plug Inspection X
Change X
Fuel tank / Inspection X
fuel filter Change -

Provide appropriate servicing upon the earlier of the following: in the given month or after the specified

hours of operation (HOQO) have expired.

15.2 Cleaning

e We recommend cleaning the machine immediately after each use.
e Keep all safety devices, air vents and the motor housing free of dirt and dust as far as possible
e Wipe the equipment with a moist cloth and some soft soap or blow it with compressed air at low

pressure.

NOTICE

Do not use cleaning agents or solvents; these could attack the plastic parts of the machine!

ZIPPER MASCHINEN GmbH

ZI-STE28001V

www.Zipper-Maschinen.at



i

15.3 Engine oil change

ATTENTION

a Switch off the machine before starting the engine oil change!
ﬁ Drain the used oil quickly and completely while the engine is still warm.

For the purposes of environmental protection fill the oil in tight containers and dispose
the oil in a recycling center. Do not dispose it with household waste

e Pull out the drain screw (1)

e Drain the dirty oil into a suitable container
e Replace the drain screw

¢ Remove the dipstick

e Fill in new engine oil (15W40, 600ml) and check the
engine oil level with the dipstick

e If the level is correct (FULL) reinsert the dipstick
¢ Remove oil residues with a rag

e Put the machine on an even area and start the
engine. If there is sufficient oil level the low oil
alarm light will be not activated

15.4 Air filter

e Loosen the clip and remove the cover
e Remove the air cleaner case
e Remove the air cleaner

e Clean the air filter with soapy water, then rinse e
with clear water and let it dry thoroughly before
reassembling

e Reassemble the air cleaner in reverse order

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



15.5 Spark plug (F6RTC)

Open and lift away the left top cover
Remove the spark plug cap

Loosen the spark plug using the spark
plug socket.

Visually inspect the spark plug

Remove carbon deposits with a copper
wire brush

Check electrode gap (0,7 -0,8mm)

Reassemble the spark plug in reverse
order

15.6 Transport

Secure the machine to prevent slipping
Do not let the fuel spill out of the fuel tank.
When the generator is placed on vehicle, the engine may not run.

During transport, protect the machine from excessive heat. If longer periods in an enclosed
vehicle the fuel may ignite due to overheating.

15.7 Storage

If the machine is stored for longer than 30 days:

Wait until the engine cools down sufficiently.

Allow the fuel from the tank into a suitable container (or let the machine run till it stops itself)
and store the drained fuel in a suitable container.

Clean and dry machine
Store in a dry, out of reach of children place
Cover the machine well and store it in a dry and clean place.

15.8 Disposal

Do not dispose the machine, machine components fuel and oil in residual waste. Contact
your local authorities for information regarding the available disposal options. When you
buy at your local dealer for a replacement unit, the latter is obliged to exchange your old.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



16 TROUBLE SHOOTING

Trouble

Engine does not start

Possible cause

e Incorrect starting sequence

e Observe the correct starting

sequence

e Dirty air cleaner

Clean/replace air cleaner

e No fuel supply

Refuel

e Fault in the fuel line

Check the fuel line for kinks
or damages

e Engine flooded.

Screw off, clean and dry the
spark plug. Then pull the

cranking rope several times
and reinstall the spark plug

e Spark plug connector not placed on.

Place on the spark plug
connector

¢ No ignition spark

Clean/replace spark plug
Check ignition cable

e Fuel cock closed

Open fuel cock

e Engine oil to few

Check engine oil

Engine starts and is stalled
immediately

e Incorrect idle adjustment

Contact customer service

Machine works with
interruptions

e Carburetor incorrectly adjusted

Contact customer service

e Spark plug fouled

Clean/replace spark plug
Check spark plug connector

Low oil light glows

e Check oil level

Fill engine oil

Low oil light glows

e To less or no oil

Fill engine oil

Overload indicator light glows

e Low voltage protection activated

Engine speed to low

Overload indicator light glows

e High temperature protection
activated

Cool down the engine

Overload indicator light glows

e Overload protection activated

To big loads

Check loads

Overload indicator light glows e Short circuit protection activated

NOTICE

Should you in necessary repairs not able to properly to perform or you have
not the prescribed training for it always attract a workshop to fix the
problem.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



Ioomas  JO0j00 (Ivd)
(91) Treo UopsTul] Bnyd yredg (10 eUTFug 1IEI§ Liejyeg (100 BurRawg)

U T = _T
~ u auT] You[q s ? 0 2
I
VI/1S our pey i 1
g
¥
B 3IN2ITD 1 NTE .
21TOquAS - -
M >¢. asutSuy
IHINPUST
(@) As oursug i
_ 4 I © = H-—_s
— LIy .m.mm uﬂ.._.J Juﬂﬁm 10 —M i H”
S eTyae [ wi
UL JoBTg ¥ o —g =Ty i @ epotq
18A0OBI-OINY
U] onyq = auI[ anjg
AMn = O 2T YooLq
1931309
+4 AZL 00 < HR 01 VAL
< %
[ A =
[ + @ aur] pay E auIT pay h auIy anq = auT[ an[g
(@) L 10y09301d 010y Y
(U] —— | e outy foay
oury| TOHPOAUT JO SPIST] h
m 1go18 Tuexg auUITI03BOIPUT 10 auldug
(2’4 pue \W Ul Udaly TOT)BOTPUT PBO] IoA]
= MOTTR = UL YO°[§  Iojeolpul Jekod ulef
S T zﬂg\ g \ WA
~ 1481] Ueal) a1 eduel)
,m To31ud] au1] aduel)
— I91I0AU] ST
. all] en[g
o ' ouTT poy
o DVAOBE
<
N
Z N 1 s o2
IT onyg Uty anyg
"D (O Y =
,M O:O HOTT2} it TTINE)S E_ 9urT pay =i Ut pay
o ¥91/A05T aur T0Y80Iq T00ITY YEI
N suTT poy
|

www.Zipper-Maschinen.at

ZIPPER MASCHINEN GmbH

ZI-STE28001V



18 NAHRADNI DILY / SPARE PARTS

18.1 Objednavky nahradnich dil& / spare parts order

Pouzitim nahradnich dild ZIPPER dosahnete idedlniho vysledku. Optimalni presnost dilG sniZuje &as
opravy a prodluzuje Zivotnost stroje.

[o) v V4
DULEZITE
Pouziti dild jinych vyrobctli vede ke ztraté zaruky!
Plati: PFi vyméné komponent a ¢asti stroje pouzivejte pouze originaini dily.

PFi objednavani nahradnich dila pouzijte servisni formular. Uvedte typ stroje, Cislo nahradniho dilu a jeho
popis. Aby se predeslo nedorozuménim pfi vyfrizovani objednavky, doporucujeme pfilozit kopii vykresu s
oznacenymi pozadovanymi dily.

Adresa pro objednani je uvedena v predmluvé na zacatku tohoto navodu.

With original ZIPPER spare parts you use parts that are attuned to each other shorten the installation
time and elongate your machines lifespan.

IMPORTANT

The installation of other than original spare parts voids the warranty!
So you always have to use original spare parts

When you place a spare parts order please use the service formular you can find in the last chapter
of this manual. Always take a note of the machine type, spare parts number and parthame. We
recommend to copy the spare parts diagram and mark the spare part you need.

You find the order address in the preface of this operation manual.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V




18.2 Rozpadovy vykres / explosion drawing

1 MOTOR COVER 2 23 OIL SEAL GASKET 1
2 BOLT GB/T 16674.1-2000 M6x12 4 24 OIL SWITCH ASSEMBLY 1
3 BOLT GB/T 16674.1-2000 M6x16 4 25 SOCKET 1
4 COOLING FAN 1 26 usB 1
5 BOLT GB/T 16674.1-2000 M8x1x25 1 27 PANEL 1
6 WASHER 8x22x2 1 28 PANEL PLASTIC BACK COVER 1
7 MOTOR ROTOR 1 29 BLOT GB/T 16674.1-2000 M6x16 4
8 BOLT GB/T 16674.1-2000 M6x45 4 30 ENGINE STOP 1
9 MOTOR SPINDLE 1 31 INDICATOR LAMP ASSEMBLY 1
10 BOLT GB/T 16674.1-2000 M8x16 4 32 VFT 1
11 MUFFULER 1 33 DC TERMINAL 2
12 NUT /GB/T 6170-2000 M8 2 34 CIRCUIT BREAKER 1
13 EXHAUST GASKET 1 35 FRAME 1
14 ENGINE 1 36 NUT /GB/T 6177.1-2000 M8 12
15 INVERTER 1 37 BOLT GB/T 16674.1-2000 M8x32 4
16 BOLT GB/T 16674.1-2000 M8x40 4 38 SHOCK ABSORBER 4
17 BOLT GB/T 16674.1-2000 M8x40 4 39 FRONT SUPPORT PLATE 1
18 TANK STRAINER 1 40 BACK SUPPORT PLATE 1
19 FUEL TANK CAP SEAL 1 41 ENGINE FRONT COVER 1
20 TANK CAP 2 42 CONNECTING PLATE 1
21 FUEL TANK 1 43 BOLT GB/T13806.2-1992 ST2.9x12 2
22 OIL STRAINER 5 44 OIL GAUGE ASSEMBLY 1

ZIPPER MASCHINEN GmbH

www.Zipper-Maschinen.at

ZI-STE28001V




s A/ 3 *
\\ ,\in 2 .o 16

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at

ZI-STE28001V




Name ‘ Qty. No. Name ‘ Qty.

r
e

1 BOLT GB/T 5789-1986 M8x30 6 41 BOLT GB/T 16674.1-2004 M5x10 6
2 CRANKCASE COVER 1 42 AIR FILTER ASSEMBLY 1
3 BEARING GB/T276-1994 6205 2 43 AIR FILTER BRACKET 1
4 LOCATING PIN 8x12 1 44 BOLT GB/T 5789-1986 M6x12 1
5 CAMSHAFT ASSEMBLY 1 45 LOCATING PIN 10x14 2
6 CRANKCASE SEALING PAPER PAD 1 46 PISTON RING ASSEMBLY 1
7 CRANSHAFT ASSEMBLY 1 47 PISTON PIN 1
8 GOVERNOR GEAR ASSEMBLY 1 48 PISTON 1
9 BOLT GB/T 5789-1986 M6x12 2 49 ACCELERATOR BRACKET 1
10 GUIDE COVER 3 50 PULL ROD 1
11 TAPPET 2 51 FINE SPRING 1
12 CONNECTING ROD ASSEMBLY 1 52 SPEED ARM 1
13 PISTON PIN RETAINER 2 53 RESET SPRING 1
14 PUSH ROD 6 54 T TYPE BLOT M6x21 1
15 INTAKE VALVE 1 55 NUT GB/T 6177.1-2000 M6 1
16 EXHAUST VALVE 1 56 B TYPE PIN 1
17 VALVE SPRING 2 57 SWING ROD GASKET 1
18 EXHAUST VALVE SPRING 1 58 GOVERNOR SCREW 1
19 EXHAUST VALVE CAP 1 59 BOLT GB/T 16674.1-2004 M6x25 2
20 INTAKE VALVE SPRING 1 60 IGNITER ASSEMBLY 1
21 INTAKE VALVE OIL BAFFLE 1 61 BOLT GB/T 16674.1-2004 M6x8 4
22 EXHAUST PORT DOUBLE HEAD 1 62 RECOIL STARTER ASSEMBLY 1
23 CYLINDER HEAD ASSEMBLY 1 63 BOLT GB/T 16674.1-2004 M6x12 4
24 BOLT GB/T 5789-1986 M8x60 4 64 RECOIL STARTER AIR GUIDE COVER 1
25 ROCKER DOUBLE HEAD SCREW 2 65 NUT GB/T 6177.2-2000 M14x1.5 1
26 LIMIT PLATE 1 66 START CUP 4
27 ROCKER ARM 2 67 FAN 1
28 VALVE ADJUSTING SCREW 2 68 FLY WHEEL ASSEMBLY 1
29 VALVE LOCK SCREW 2 69 OIL SEAL 41.25x25x6 2
30 CYLINDER HEAD GASKET 1 70 BLOT GB/T 16674.1-2004 M6x12 1
31 CYLINDER HEAD ASSEMBLY 1 71 FLY WHEEL SIDE COVER 1
32 BOLT GB/T 5789-1986 M6x12 4 72 SINGLE PASS 1
33 SPARKING PLUG F7TC 1 73 BOLT GB/T 16674.1-2004 M6x12 1
34 BOLT M6x113 2 74 CRANK CASE 1
35 INLET GASKET 1 75 OIL DRAIN BOLT ALUMINUM PAD 2
36 INSULATION BOARD 1 76 OIL DRAIN BOLT M10x1.25x15 2
37 CARBURATOR GASKET 1 77 WARNING DEVICE 1
38 CABURATOR 1 78 NUT GB/T 6171-2000 M10x1.25 1
39 AIR FILTER 1 79 BOLT GB/T 16674.1-2004 M6x16 1
40 NUT GB/T 6177.1-2000 M6 2 80 OIL RULE ASSEMBLY 2

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



19 CE-PROHLASENI O SHODE / CE-DECLARATION OF CONFORMITY

Dovozce / Distributor
Z.1.P.P.E.R® MASCHINEN
4707 Schlisslberg, Gewerbepark 8, AUSTRIA
Tel.: +43 7248 61116-700; Fax.: +43 7248 61116-720

www.zipper-maschinen.at
info@zipper-maschinen.at

Nazev / name

ELEKTROCENTRALA / GENERATOR
Typ / model

ZI-STE28001V
Smérnice ES / EC-directives

e 2006/42/ES
e 2014/30/EU
e 2010/26/EU
e 2005/88/ES

Pouzité normy / applicable standards

e EN 12601:2010

e EN 55012:2007/A1:2009
e EN 60204-1:2006

e ENISO 3744:2010

e ISO 8528-10:1998

Timto prohlasujeme, Ze vyse zminény typ stroje splfiuje bezpecnostni a zdravotni pozadavky norem EU.

Toto prohlaseni ztraci svou platnost, pokud by doslo ke zméndm nebo Upravam stroje, které nebyly odsouhlaseny
vyrobcem.

Hereby we declare that the above mentioned machines meet the essential safety and health requirements of the
above stated EC directives. Any manipulation or change of the machine not being explicitly authorized by us in
advance renders this document null and void.

Technische Dokumentation
ZIPPER-MASCHINEN GmbH

4170 Haslach, Marktplatz 4 /
7~ C.__-——

e
Schlisslberg, 09.06.2017

Misto / Datum place/date Erich Humer

Jednatel / Director

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V


http://www.zipper-maschinen.at/

20 ZARUCNI PODMINKY

1.) Zaruka:

Firma ZIPPER Maschinen poskytuje zaruku za mechanické a elektrické soucasti stroje po dobu 2 let

v pripadé pouZziti stroje pro hobby Gcely; pro komercni Ucely pak 1 rok od pofizeni. V pfipadé vzniku
vady v ramci zaru¢ni doby, ktera vylu¢né neodpovida ustanovenim podle bodu 3, provede firma Zipper
po posouzeni bud opravu stroje nebo jeho vyménu.

2.) Reklamace:

Pro provéreni opravnénosti reklamace musi kupujici kontaktovat prodavajiciho; ten nahlasi vzniklou
vadu pisemné firmé Zipper. Pfi opravnénosti reklamace bude stroj vyzvednut firmou Zipper

u prodavajiciho/distributora. Zaslani nazpét bez predchoziho souhlasu firmy Zipper nebude
akceptovano a zasilka nebude prevzata.

3.) Podminky:

a) Zarucni pozadavky bude akceptovany pouze v pfipadé, ze spolu s vyrobkem bude predlozena
originalni faktura nebo pokladni Uc¢tenka od distributora spole¢nosti Zipper. Zaruc¢ni narok zanika,
pokud neni stroj pro vyzvednuti kompletni spole¢né s pfislusenstvim stroje.

b) Zaruka se nevztahuje na bezplatné provéreni, Udrzbu, inspekci nebo servisni prace na stroji. Vady
vzniklé nespradvnym pouzivanim stroje koncovym uzivatelem nebo distributorem nebudou akceptovany
jako zarucni. Napf.: pouziti Spatnych nebo nevhodnych pohonnych hmot, poskozeni mrazem ve vodni
nadrzi, pohonné hmoty v nadrzi stroje apod.

c) Ze zaruky jsou vyjmuty spotiebni dily jako napt.: uhlikové kartad&ky, zachycovaci pytel, ndz, valce,
fezaci desky, fezaci zafizeni, vedeni, spojky, tésnéni, kolecka, listy pily, stipace, stipaci kliny,
prodlouZeni Stipacich klint, hydraulické oleje, olejové,- vzduchové- a benzinové filtry, Femeny,
zapalovaci svicky, voditka apod.

d) Déle jsou vyjmuta poskozeni stroje zplsobena: nespravnym pouZivanim, pouzitim pro jiné nez
specifikované ucely; nedodrzenim navodu na obsluhu a Gdrzbu; vysSSi moci; opravami nebo technickymi
zménami stroje neautorizovanym servisem nebo pfimo zdkaznikem. Pouzitim jinych nez originalnich
dilG a pfisludenstvi znacky Zipper.

e) Vzniklé naklady (pfepravné apod.) pfi neopravnéné reklamaci, zjisténé nasimi kvalifikovanymi
pracovniky, budou fakturovany zakaznikovi nebo prodejci.

f) Stroje mimo zarucni dobu: Opravy budou provadény na zakladé predplatby nebo faktury prodejce na
zakladé kalkulace (véetné prepravného) firmy Zipper.

g) Zaruka se vztahuje pouze na zakazniky, ktefi zakoupili stroj u autorizovaného prodejce Zipper,
ktery stroj poridil pfimo u firmy Zipper. Zaruka neni pfenosna pfi preprodeji stroje.

4.) Odpovédnost za vady a jiné zaruky:

Firma Zipper ruci vzdy jen do vySe hodnoty zbozi. Na naroky ve smyslu nizké produktivity, nasledné
Skody nebo usly zisk z duvodu zavady vzniklé v zaru¢ni dobé nebude bran zfetel. Firma Zipper
vychazi ze zakona o odstranéni vad.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



21 WARRANTY GUIDELINES

1.) Warranty:

Company ZIPPER Maschinen GmbH grants for mechanical and electrical components a warranty
period of 2 years for amateur use; and warranty period of 1 year for professional use, starting with
the purchase of the final consumer. In case of defects during this period, which are not excluded by
paragraph 3, ZIPPER will repair or replace the machine at its own discretion.

2.) Report:

In order to check the legitimacy of warranty claims, the final consumer must contact his dealer. The
dealer has to report in written form the occurred defect to ZIPPER. If the warranty claim is
legitimate, ZIPPER will pick up the defective machine from the dealer. Returned shippings by dealers
which have not been coordinated with ZIPPER, will not be accepted and refused.

3.) Regulations:

a) Warranty claims will only be accepted, when a copy of the original invoice or cash voucher from
the trading partner of ZIPPER is enclosed to the machine. The warranty claim expires if the
accessories belonging to the machine are missing.

b) The warranty does not include free checking, maintenance, inspection or service works on the
machine. Defects due to incorrect usage of the final consumer or his dealer will not be accepted as
warranty claims either. Some examples: usage of wrong fuel, frost damages in water tanks, leaving
fuel in the tank during the winter, etc.

c) Defects on wear parts are excluded, e.g. carbon brushes, collection bags, knives, cylinders,
cutting blades, clutches, sealings, wheels, saw blades, splitting crosses, riving knives, riving knife
extensions, hydraulic oils, oil/air/fuel filters, chains, spark plugs, sliding blocks, etc.

d) Also excluded are damages on the machine caused by incorrect or inappropriate usage, if it was
used for a purpose which the machine is not supposed to, ignoring the user manual, force majeure,
repairs or technical manipulations by not authorized workshops or by the customer himself, usage of
non-original ZIPPER spare parts or accessories.

e) After inspection by our qualified personnel, resulted costs (like freight charges) and expenses for
not legitimated warranty claims will be charged to the final customer or dealer.

f) In case of defective machines outside the warranty period, we will only repair after advance
payment or dealer’s invoice according to the cost estimate (incl. freight costs) of ZIPPER.

g) Warranty claims can only be granted for customers of an authorized ZIPPER dealer who directly
purchased the machine from ZIPPER. These claims are not transferable in case of multiple sales of
the machine.

4.) Claims for compensation and other liabilities:

The liability of company ZIPPER is limited to the value of goods in all cases. Claims for compensation
because of poor performance, lacks, damages or loss of earnings due to defects during the warranty
period will not be accepted. ZIPPER insists on its right to subsequent improvement of the machine.

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



SLEDOVANI VYROBKU Product experience form

Po dodani nas zajima Vase spokojenost We observe the quality of our delivered

s vyrobkem. products in the frame of a Quality
Management policy.

PFi procesu zlepovani vyrobkl jsme totiz zavisli na Your opinion is essential for further

Véas a Vasich zkudenostech s praci se strojem: product development and product

choice. Please let us know about your:

- Potize, které se vyskytly béhem provozu vyrobku. - Impressions and suggestions for
improvement.

- Chybné funkce stroje, které se vyskytly za uréitych - experiences that may be useful for
provoznich podminek. other users and for product design

- Vase vlastni zkuSenosti z provozu, které mohou byt - Experiences with malfunctions that
uziteCné i pro ostatni uzivatele stroje. occur in specific operation modes

Prosime Vas o zaznamendani Vasich zkuSenosti a We would like to ask you to note down

zaslani na nasi adresu emailem, Your experiences and observations and

faxem nebo postou: send them to us via FAX, E-Mail or by

post:

Moje zkusenosti / My experiences:

Jméno / name:

Vyrobek / product:

Datum nakupu / purchase date:
Zakoupeno v / purchased from:
E-Mail/ e-mail:

Dékujeme za Vasi spolupraci! / Thank you for your kind cooperation!

KONTAKT / CONTACT:
Z.1.P.P.E.R MASCHINEN

4707 Schlisslberg, Gewerbepark 8
AUSTRIA

Tel :+43 7248 61116 700
Fax:+43 7248 61116 720
info@zipper-maschinen.at

ZIPPER MASCHINEN GmbH  www.Zipper-Maschinen.at
ZI-STE28001V



ERVSNi FORMULAR / SERVICE FORM

Zakrizkujte jeden z &tvereckd nize / Please tick one box from below:

L] Poptavka po servisu / service inqury
Poptavka nahradniho dilu / spare part
Zarucni reklamace / guarantee

1. Udaje o odesilateli (* povinné uved'te) / senders information (* required)

* Jméno, prijmeni / first name, family name

* Ulice, ¢. domu / street, house number

* PSC, mésto / ZIP code, place

* Zemé / country

* Telefon / (mobile) phone
International numbers with country code

* E-Mail

Fax

2. Informace o stroji / tool information

Vyrobni Cislo/serial number: *Typ stroje/machine type:

2.1 Potrebné nahradni dily / required spare parts

4 r e r r . . . v
Cislo nahradniho dilu / Part |Popis / description Pocet / number
- - ———
2.2 Popis zavady / Problem description
Zaméite prosim popis zivady zejména na: Please describe amongst others in the problem:
Co zévadu zpisobilo, resp. jaké byla vase ¢innost pfed vznikem zivady? What has cause the problem/defect, what was the last activity before you noticed the
U elektrickych zavad: Byl stroj a jeho napdjeni zkontrolovino elektromechanikem? problem/defect?

For electrical problems: Have you had checked you electric supply and the machine already
by a certified electrician?

; v . . .
3. Dbejte na to, ze: / Additional information
NEUPLNE VYPLNENY FORMULAR NEMUZE BYT ZPRACOVAN! INCOMPLETELY FILLED SERVICE FORMS CANNOT BE PROCESSED!
FOR GUARANTEE CLAIMS PLEASE ADD A COPY OF YOUR ORIGINAL SALES /
K REKLAMACIM PRILOZTE I KOPII PRODEJNIHO DOKLADU A FOTO STITKU DELIVERY RECEIPT OTHERWISE IT CANNOT BE ACCEPTED.
STROJE. FOR SPARE PART ORDERS PLEASE ADD TO THIS SERVICE FORM A COPY OF THE
RESPECTIVE EXPLODED DRAWING WITH THE REQUIRED SPARE PARTS BEING
PRI OBJEDNAVCE NAHRADNIHO DILU PRILOZTE FOTO DILU NEBO KOPII ROZ- MARKED CLEARLY AND UNMISTAKABLE.
PADOVEHO VYKRESU STROJE S VYZNACENIM POTREBNEHO DILU. THIS HELPS US TO IDENTIFY THE REQUIRED SPARE PARTS FASTLY AND ACCEL-

LERATES THE HANDLING OF YOUR INQUIRY.
DEKUJEME MNOHOKRAT ZA VASI POMOC!

THANK YOU FOR YOUR COOPERATION!



